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MUWHHUCTEPCTBO HAYKU 1 BBICIHIEI'O OBPA3OBAHIA
OEJIEPAJIBHOE I'OCY JAPCTBEHHOE BIO/UKETHOE OBPA3OBATEJIBHOE
YUYPEX/IEHUE BbICHIEI'O OBPA3OBAHUA
«CEBEPO-KABKA3CKAA T'OCYJAPCTBEHHA AKAAEMUA»

Kagenpa pycckoro u ”HOCTpaHHBIX A3BIKOB
Jucnuniuna « MHOCTPaHHBIA A3BIK»

KOHTPOJIbHASI PABOTA Ne2

Jl71s1 BBINOJIHEHNUSI KOHTPOJIbHOM padoThl HE00X0IMMO YCBOUTH CJIeYI0IIHe
pa3jesbl AHTJIHICKOT0 SI3bIKA:

-MOJIaJIbHBIE [J1AroJIbl,
-TepyHIUH,

-COIJIaCOBaHHE BPEMEH,

-YCIIOBHBIE MPEAJIOKCHHUS,

-CMHTAaKCHUYECKUI aHaIu3 MPEJJI0KEHUN U UX MEPEBO/I.

Task I. Read the text. Translate it in writing. Underline the predicates and
define Tense and Voice

Transmitting the power

The crankshaft, which revolves approximately 6000 times a minute, engine
power to the gearbox, and so to the wheels. It is cast or forged in a single piece,
and in places is machined to an accuracy of less than a thousandth of an inch.

The main parts of the shaft are the journals, which rotate in, and are supported
by, the main bearings; the crank-pins, which rotate in the big-end bearings of the
connecting rods which link them with the pistons; and the webs, or cranks, which
join the journals to the crankpins and are shaped so that they serve as balance
weights for smoother running.

The flywheel, a heavy and carefully balanced disc that is fitted at the gearbox
end of the crankshaft, helps smooth running as it maintains a steady rate of turning.
As the pistons thrust downward and give repeated sudden thrusts to the crankshaft
while the flywheel maintains its momentum, the shaft is subjected to slight
twisting and untwisting, which is called torsional vibration.

A damper - a metal disc which incorporates a ring of rubber - is fitted to the
front end of the crankshaft in order to help control torsional vibration. The firing
order of the cylinders is also important as it makes the crankshaft rotate smoothly.



If we count the cylinder nearest the fan as No. 1, the firing order in a 4-cylinder
engineis 1,3,4,2 or 1, 2,4, 3, so as to give even turning of the crankshatft.

On their firing strokes, the pistons push the crankshaft down; and on their other
three strokes they are forced up or pulled down by the rotation of the crankshatft.
The crankpins are set at different angles to the shaft so as to give a uniform spacing
of the firing impulse.

Task II. Check if you remember.

1. How many times a minute does the crankshaft revolve?
2. How many parts are there in the shaft?

3. What do the crank-pins serve for?

4. What is called torsional vibration?

5. Why are the crankpins set at different angles to the shaft?

Task III. Give the Russian equivalents:

important , rate ,rotation, accuracy, twisting, firing, impulse, rubber, turning, angle,
big- end running, bearing ,vibration, join,pull ,push, rotate, shape, support, thrust.

Task IV. Give the English equivalents:

pe3uHa, ABUKEHUE, YToJl, MOAIIUITHUK, COOTHOILIIEHUE, 3aKUTaHIe, BOCIIJIAMEHEHUE,
KOJUIEKTOp, YKJIOH, CKOPOCTb, BpalleHHe, BUOpalus, pa3roH, pacxo/i0BaTh
BIIYCTYIO, MOJBEpPrarb, J0OUBAaThCs, OOBEAUHATh, MPUIABATH (popMmy.

Task IV .Translate the sentences into Russian. Pay attention to Participle I and
Participle 11

1.The engine must be able to start below freezing point.

2.Since no water is allowed to escape, the system is usually filled at the factory with a
mixture of water and antifreeze.

3.A spark plug consists of a metal electrode passing through the center of a ceramic
insulator.

4.The oil cuts down friction and wear due to lubrication of the pistons, bearings and
other moving parts.

5.The faster the crankshaft revolves in relation to the road wheels, the greater is the
force available to drive the car.

6.For good engine performance, the spark must be big enough to ignite the fuel
mixture efficiently.



7.A petrol engine provides power which propels the car by burning a mixture of
petrol and air in its cylinders.

8.The voltage required is achieved by boosting it thousands of times by the coil.
9.Spark plugs produce the electric sparks igniting the petrol/air mixture in an engine’s
cylinders.

Task IV. Turn the Direct speech into Indirect.

1. He says, “You are right.”

2. He asked me, “Do you know my sister?”

3. She asked John, “When are you going to come?”
4. Don’t wait for me if I’'m late’, Ann said. Ann said
5. ‘Eat more fruit and vegetables’, the doctor said.
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